

Economics Letters 47 (1995) 177-183

economics letters

A note on affine aggregation

Bernard De Meyer, Philippe Mongin*

CORE, Université Catholique de Louvain, 34 voie du Roman Pays, B-1348 Louvain-la-Neuve, Belgium

Received 10 March 1994; accepted 6 June 1994

Abstract

If a vector-valued function has convex range and one of its components is related to the others by a Pareto-like condition, that component must be affine w.r.t. the others; sign restrictions on the coefficients follow from suitably strengthening the unanimity condition. The theorem is applied to social choice and decision theories.

JEL classification: D71

1. Introduction

This paper proves a simple and general theorem on affine aggregation. Consider a vector-valued function $F = (f_0, f_1, \ldots, f_n)$ having convex range. Assuming that f_0 is related to the *n* remaining components by a unanimity condition, we investigate the functional relationship between f_0 and f_1, \ldots, f_n . When the f_i are utilities, the unanimity conditions are simply those of Pareto. Our theorem states that for most of the envisaged conditions, f_0 is affine in terms of the f_1, \ldots, f_n and that sign restrictions on the coefficients result from a suitable choice of the unanimity condition.

By specifying the type of the f_i we generate relevant choice-theoretic applications. In particular, we derive variants of Harsanyi's (1955) Aggregation Theorem and give a general solution to the well-known problem of *signing* the coefficients in Harsanyi's affine social choice rule. We discuss further applications to Anscombe and Aumann's (1963) expected utility theory and to some recent results on probability aggregation (Mongin, 1993).

2. Definitions and basic facts

Consider any nonempty set X and $F = (f_0, f_1, \ldots, f_n): X \to \mathbb{R}^{n+1}$. We study the effect of imposing one of the following conditions: for any $x, y \in X$,

* Corresponding author.

0165-1765/95/\$09.50 © 1995 Elsevier Science B.V. All rights reserved SSDI 0165-1765(94)00531-6

$$(P_{0})f_{i}(x) = f_{i}(y), i = 1, ..., n \Rightarrow f_{0}(x) = f_{0}(y).$$

$$(P_{1})f_{i}(x) \ge f_{i}(y), i = 1, ..., n \Rightarrow f_{0}(x) \ge f_{0}(y).$$

$$(P_{2})f_{i}(x) > f_{i}(y), i = 1, ..., n \Rightarrow f_{0}(x) > f_{0}(y).$$

$$(P_{3})f_{i}(x) \ge f_{i}(y), i = 1, ..., n \& \exists j : f_{j}(x) > f_{j}(x) \Rightarrow f_{0}(x) > f_{0}(y).$$

$$(P_{4})f_{i}(x) \ge f_{i}(y), i = 1, ..., n \& f_{0}(x) \le f_{0}(y) \Rightarrow F(x) = F(y).$$

If the f_i are utility functions, then (P_0) , (P_1) , (P_2) , and (P_3) become standard Pareto conditions, i.e. those of Pareto-indifference, Pareto-weak preference, Weak Pareto, and Strict Pareto, respectively. The conjunction of (P_0) and (P_3) is then the Strong Pareto condition, while the nonstandard condition (P_4) says that any conflict between the weak preferences of the social observer and those of society as a whole are resolved by general indifference. We also introduce the following condition of *minimum agreement* among the f_i :

$$\exists x^*, y^* \in X, \quad \forall i = 1, \dots, n, f_i(x^*) > f_i(y^*).$$
 (C)

The following lemma clarifies the relations between the (P_s) :

Lemma
$$(P_4) \Rightarrow (P_3) \Rightarrow (P_2); (P_4) \Rightarrow (P_1) \Rightarrow (P_0); (P_4) \Leftrightarrow (P_0) \& (P_3).$$
 If $F(X)$ is convex,
(C)& $(P_3) \Rightarrow (P_4).$

Proof. Since the other relations are easy to check, we prove only the last statement. Assume that the antecedent of (P_4) holds, i.e.

$$f_i(x) \ge f_i(y)$$
, $i = 1, ..., n$ and $f_0(x) \le f_0(y)$.

Then, (P₃) clearly implies that $f_i(x) = f_i(y)$, i = 1, ..., n. Assume by way of contradiction that $f_0(x) < f_0(y)$ and define the vector

$$u = (1 - \varepsilon)(F(x) - F(y)) + \varepsilon(F(x^*) - F(y^*)),$$

where x^* , y^* are as in (C) and $\varepsilon \in]0,1[$. For ε small enough, $u_0 < 0$ and $u_i > 0$, i = 1, ..., n. Since the set $\{F(x) - F(y) | x, y \in X\}$ is convex, there are $\xi, \xi' \in X$ such that $u = F(\xi) - F(\xi')$, contradicting (P₃). \Box

We need a few definitions and basic facts of convex analysis in finite-dimensional vector spaces. A subset D of $E = \mathbb{R}^{n+1}$ is said to be *polyhedral* if it is the set of solutions of a finite system of linear weak inequalities. Polyhedral sets are clearly convex and closed. Several of the arguments below crucially depend on assuming finite dimensionality. For $i = 0, 1, \ldots, n$, let e_i denote the *i*th vector of the canonical basis. Given D, $D' \subset E$, let V(D) denote the vector space spanned by D in E, and D - D' the set $\{z - z' | z \in D, z' \in D'\}$.

The linear form ν is said to separate the sets $K_1, K_2 \subset E$ if

B. De Meyer, P. Mongin / Economics Letters 47 (1995) 177-183

$$\inf_{k_1 \in K_1} \langle \nu, k_1 \rangle \geq \sup_{k_2 \in K_2} \langle \nu, k_2 \rangle, \text{ and } \exists k_1 \in K_1, k_2 \in K_2 : \langle \nu, k_1 \rangle > \langle \nu, k_2 \rangle,$$

and to separate them *strictly* if the first inequality is strict. The standard separating hyperplane theorem states that there is a separating ν if K_1 and K_2 are nonempty, convex, and mutually disjoint. It is also known that there is a strictly separating ν if the previous conditions hold, and furthermore K_1 is closed and K_2 compact (Rockafellar, 1970, Corollary 11.4.2.). It is also the case that there is a strictly separating ν whenever $K_1, K_2 \subset E$ are polyhedral, nonempty, and mutually disjoint (Rockafellar, 1970, Corollary 19.3.3.).

3. Affine aggregation results

Proposition 1. Assume that K = F(X) is convex. Then, (P_0) holds if and only if there are real numbers $\lambda_1, \ldots, \lambda_n$, μ such that

$$\forall x \in X, f_0(x) = \sum_{i=1}^n \lambda_i f_i(x) + \mu .$$
(*)

(P₁) [(P₄)] holds if and only if there are non-negative [resp. strictly positive] numbers $\lambda_1, \ldots, \lambda_n$ and a real number μ satisfying (*).

Proof. The sufficiency part in each statement is obvious. To prove necessity in the case of (P_s) , s = 0, 1, we shall reformulate these conditions appropriately. Notice first that (P_0) is equivalent to: $\forall x, y \in X$, $[f_i(x) = f_i(y), i = 1, ..., n \Rightarrow f_0(x) \ge f_0(y)]$. Define:

$$R_0 = \{ z \in \mathbb{R}^{n+1} | z_0 < 0 \text{ and } z_i = 0, i = 1, \dots, n \},\$$

$$R_1 = \{ z \in \mathbb{R}^{n+1} | z_0 < 0 \text{ and } z_i \ge 0, i = 1, \dots, n \},\$$

and let \bar{R}_0 and \bar{R}_1 denote the closures of R_0 and R_1 , respectively. The following equivalence clearly holds for s = 0, 1:

$$(\mathbf{P}_s) \Leftrightarrow \mathbf{R}_s \cap \mathbf{K}^- = \emptyset$$
,

where K^- denotes the set K - K. Using the fact that K^- is convex and symmetric with respect to 0, it can be checked that for s = 0, 1,

$$(\mathbf{P}_s) \Leftrightarrow \mathbf{R}_s \cap V(K^-) = \emptyset$$

[To see that, assume that there is $z \in R_s \cap V(K^-)$ and write $z = \sum_{i=1}^m \alpha_i z_i$, where Z_1, \ldots, z_m are elements of K^- . The symmetry property of K^- means that the α_i can be taken to be non-negative. The case z = 0 is trivial. If $z \neq 0$, the convexity property implies that $z' = (\sum \alpha_i)^{-1} \sum_{i=1}^m \alpha_i z_i$ is in K^- , a contradiction.] Since $\overline{R}_s - e_0 \subset R_s$,

$$(\mathbf{P}_s) \Rightarrow (\bar{R}_s - e_0) \cap V(K^-) = \emptyset.$$

Thus, we have just reduced the problem to that of separating two sets that are polyhedral,

nonempty, and mutually disjoint. Applying the latter strict separation theorem in Section 2, there is $\nu = (\nu_0, \nu_1, \dots, \nu_n)$ such that for s = 0, 1,

$$\langle \nu, z - e_0 \rangle > \langle \nu, k \rangle$$
, $\forall k \in V(K^-), \forall z \in \overline{R}_s$

The linear space property of $V(K^{-})$ implies that

$$\forall k \in V(K^{-}), \langle \nu, k \rangle = 0.$$
⁽¹⁾

Applying the above inequality to z = 0, we conclude that $\nu_0 < 0$. Thus, Eq. (1) as restricted to K^{-} can be written as

$$\forall x, y \in X, f_0(x) - f_0(y) = \sum_{i=1}^n \nu_i (-\nu_0)^{-1} [f_i(x) - f_i(y)].$$
(2)

Fixing $y \in X$ leads to coefficients $\lambda_1, \ldots, \lambda_n$, μ satisfying (*), which proves the (P₀) case. It remains to be shown that (*) holds for non-negative λ_i when (P₁) holds. For any i = 1, ..., nand $\alpha > 0$, one has $\alpha e_i \in \overline{R}_1$, whence

$$\langle \nu, \alpha e_i \rangle > \langle \nu, e_0 \rangle$$

and the conclusion that $\nu_i \ge 0$ follows from dividing by α and letting $\alpha \to +\infty$.

To deal with (P_4) define:

$$R_{4} = \{ z \in \mathbb{R}^{n+1} | z_{0} \le 0 \text{ and } z_{i} \ge 0, i = 1, ..., n \} \setminus \{0\},\$$
$$\Delta = \left\{ z \in R_{4} \sum_{i=1}^{n} z_{i} - z_{0} = 1 \right\}.$$

From the definition of R_4 we have

$$(\mathbf{P}_4) \Leftrightarrow \mathbf{R}_4 \cap V(K^-) = \emptyset$$

whence $(P_4) \Rightarrow \Delta \cap V(K^-) = \emptyset$. Since Δ is convex and compact, and $V(K^-)$ is convex and closed, the former strict separation theorem in Section 2 applies. There is $\nu = (\nu_0, \nu_1, \dots, \nu_n)$ such that

 $\langle \nu, \delta \rangle > \langle \nu, k \rangle$, $\forall \delta \in \Delta, \forall k \in V(K^{-})$.

As before, (1) holds, leading to

$$\langle \nu, \delta \rangle > 0$$
, $\forall \delta \in \Delta$.

Applying this inequality to $\delta = -e_0, e_1, \dots, e_n$ in turn, we conclude that $\nu_0 < 0$ and $\nu_i > 0$, i = 1, ..., n. Hence, (2) again follows from (1), and (*) holds with strictly positive λ_i , i = 1, ..., n. $1,\ldots,n$.

Proposition 2. Assume that K = F(X) is convex. If $(P_2)[(P_3)]$ holds, then there are non-negative numbers $\lambda_1, \ldots, \lambda_n$, not all of them zero [resp. strictly positive numbers $\lambda_1, \ldots, \lambda_n$], a non-negative number κ , and a number μ , such that

180

B. De Meyer, P. Mongin / Economics Letters 47 (1995) 177-183

$$\forall x \in X, \, \kappa f_0(x) = \sum_{i=1}^n \lambda_i f_i(x) + \mu \ . \tag{**}$$

Assuming (P₂) and (C) [(P₃) and (C)], there are non-negative λ_i , not all of them zero [resp. strictly positive λ_i], and there is μ , such that (*) in Proposition 1 holds.

Proof. To prove the first part, define the following convex sets:

$$R_2 = \{z \in \mathbb{R}^{n+1} | z_0 \le 0 \text{ and } z_i > 0, i = 1, \dots, n\}$$

and $R'_2 = \bar{R}_2 + \sum_{i=1}^n e_i$. The polyhedral sets R'_2 and $V(\bar{K})$ can be separated strictly. Sign restrictions in (**) derive from considering the following vectors: for $\gamma > 0$, $-\gamma e_0 + \sum_{i=1}^n e_i$ and $\gamma e_j + \sum_{i=1}^n e_i$, for j = 1, ..., n, and using a limiting argument. A related argument takes care of the case R_3 . [For instance, define:

$$R_{3} = \{ z \in \mathbb{R}^{n+1} | z_{0} \le 0, z_{i} \ge 0, i = 1, ..., n \text{ and } \exists j \neq 0; z_{j} > 0 \}$$

= $\{ z \in \mathbb{R}^{n+1} | z_{0} \le 0, z_{i} \ge 0, i = 1, ..., n \} \setminus \{ (z_{0}, 0, ..., 0) | z_{0} \le 0 \},\$

and

$$R'_{3} = R_{3} \cap \{z \in \mathbb{R}^{n+1} | \sum_{i=1}^{n} z_{i} = 1\}.\}$$

As to the second part, note that if (C) is added to (P_2) , there is $(\xi_0, \xi_1, \ldots, \xi_n) \in K^-$ such that $\xi_i > 0$, for $i = 0, 1, \ldots, n$. Then, (* *) implies that

 $\kappa\xi_0=\lambda_1\xi_1+\cdots+\lambda_n\xi_n\,,$

and hence that $\kappa < 0$. To deal with the case in which (C) is added to (P₃), apply Proposition 1 together with the Lemma. \Box

There is no hope of strengthening the first part of Proposition 2, as the following shows. Take $X = \mathbb{R}^2$, $f_0(x, y) = x$, $f_1(x, y) = y$, $f_2(x, y) = -y$. Clearly, the range of (f_0, f_1, f_2) is convex and (P_3) , hence (P_2) , trivially holds. This example illustrates the importance of the nontriviality condition (C).

Importantly, (P_2) and (P_3) behave differently in the presence of (P_0) . To see that, take $X = \mathbb{R}$, $f_0(x) = x$, $f_1(x) = -x$, $f_2(x) = 0$. Here (P_2) and (P_0) hold but it is impossible to have non-negative coefficients. Obviously, this example violates (P_3) . To assume (P_3) and (P_0) together is tantamount to assuming (P_4) , which has been said to imply the existence of strictly positive coefficients.

4. Applications

Following Harsanyi's (1955) Aggregation Theorem, if the individuals and the social observer have von Neumann-Morgenstern (VNM) utility functions, f_1, \ldots, f_n and f_0 ,

181

respectively, and if f_0 satisfies the Pareto-indifference condition with respect to the f_i , then f_0 is affine in terms of the f_i . Under the VNM assumption, however formalized, the range of $F = (f_0, f_1, \dots, f_n)$ is convex, so that Harsanyi's theorem in any axiomatic variant follows from the (P_0) part of Proposition 1. There has been much discussion on how (and even whether) unanimity conditions other than Pareto-indifference could be used to sign the coefficients of individual utilities in Harsanyi's affine conclusion. This was a relevant question to raise because the theorem was intended as a technical step towards deriving truly utilitarian rules. The first attempt to give a complete answer was probably Domotor (1979). Fishburn (1984) showed that Pareto-weak preference implied non-negative coefficients. He defines VNM utilities as mixture-preserving ('linear') functions on a mixture set, so that his proof is at the highest possible level of generality; it is, however, more complicated than the geometric argument used here to solve the (P_1) case. Weymark (1993, forthcoming) has recently analyzed the role of the Weak and Strong Pareto conditions with identical results to those reached here with respect to (P_2) and (P_4) . His proofs use the Lemma of the Alternative and are thus implicitly related to the convex analysis pursued here. Unfortunately, Weymark's proofs are not at the highest possible level of generality. He defines VNM functions as expected-utility functionals on a lottery set which is constructed from a *finite* set of pure prospects. Besides simplicity, the present approach has the advantage of being completely general. Also, we analyze the respective contributions of Pareto-indifference and Strict Pareto within the Strong Pareto condition.

Another easy application is to the theory of subjective expected utility derived by Anscombe and Aumann (1963). Take X to be the set of acts, i.e. of functions from I to \mathcal{L} , where I is a finite state space and \mathcal{L} a lottery set. Define \mathcal{L}^* to be the set of simple probabilities on X. As is well known, Anscombe and Aumann assume that there are VNM functions v and v^{*} on \mathcal{L} and \mathcal{L}^* , respectively, then connect them with each other through the Monotonicity and the Reversal of Order axioms in order to derive a (unique) subjective probability on I. Here is a quick variant of their proof. Using Reversal of Order, it is easy to define functions f_i , $i \in I$, that are mixture-preserving on \mathcal{L}^* and satisfy

$$f_i(x) = v(x(i))$$
, $\forall i \in I, \forall x \in X$.

Putting $f_0 = v^*$, the vector $F = (f_0, f_1, \ldots, f_n)$ is seen to have convex range. Monotonicity together with Reversal of Order imply that F satisfies (P_1) above. Proposition 1 then implies the existence of a subjective probability on I (the uniqueness of which is secured by an affine independence argument). More could be said on the use of Proposition 1 in the context of Anscombe and Aumann's theory when state-dependent utilities are allowed, as in Karni et al. (1983) and Drèze (1987).

A further application results from taking the f_i to be atomless probabilities as required by Savage's (1954) own version of subjective expected utility. By Lyapunov's (1940) theorem, the range of a vector-valued, atomless finite measure is convex, so that Propositions 1 and 2 can again be put to use. Mongin (1993) has recently explored the aggregative properties of atomless probabilities as a step in the analysis of the aggregative properties of Savagean orderings. Notice that the probabilistic application automatically satisfies (C), hence avoids the technical problems connected with condition (P₂) or (P₃) in the utility context.

Acknowledgements

The authors gratefully acknowledge comments from Peter Hammond and John Weymark. This research was partly supported by the SPES programme of the Union Européenne.

References

- Anscombe, F.G. and R.J. Aumann, 1963, A definition of subjective probability, Annals of Mathematical Statistics 34, 199-205.
- Domotor, Z., 1979, Ordered sum and tensor product of linear utility structures, Theory and Decision 11, 375-399.
- Drèze, J., 1987, Essays on economic decisions under uncertainty (Cambridge University Press, Cambridge).
- Fishburn, P.C., 1984, On Harsanyi's cardinal welfare theorem, Theory and Decision 17, 21-28.
- Harsanyi, J.C., 1955, Cardinal welfare, individualistic ethics, and interpersonal comparisons of utility, Journal of Political Economy 63, 309-321.
- Karni, E., D. Schmeidler and K. Vind, 1983, On state-dependent preferences and subjective probabilities, Econometrica 51, 1021-1031.
- Lyapunov (Lyapounoff), A., 1940, Sur les fonctions-vecteurs complètement additives, Bulletin de l'Académie des Sciences de l'URSS, Série Mathématique 4, 465-478.
- Mongin, P., 1993, Consistent Bayesian aggregation, CORE Discussion Paper 9319, to appear in Journal of Economic Theory.
- Rockafellar, R.T., 1970, Convex analysis (Princeton University Press, Princeton).
- Savage, L.J., 1954, The foundations of statistics (Dover, New York) (2nd edition, 1972).
- Weymark, J.A., 1993, Harsanyi's social aggregation theorem and the weak Pareto principle, Social Choice and Welfare 10, 209-221.
- Weymark, J.A., forthcoming, Harsanyi's social aggregation theorem with alternative Pareto principles, in: W. Eichhorn, ed., Models and measurement of welfare and inequality (Springer, Berlin).